SAMPLE QUESTION PAPER-SOLDIER TECHNICAL

PART-I
HATHT JTH
GENERAL KNOWLEDGE

(10 X 2 = 20 MARKS)

H‘(ﬂﬁﬁqﬂ:ﬁ: Choose the correct answer:

01. Who among the following was associated with abolishing ‘Sati in India?

YRT | Tt UAT T HIA BT 59 {67 wran 32
(a) dTs HfT/ Lord Canning (b)?ﬂ%%ﬁ‘ﬁ/ Lord Hastings

(c) @t faferaw afR® /Lord William Bentick  (d) 399 A ®Ig 81 / None of these

02. Where is Gol Gumbaz located?

e o el fRT 82

(@) Gﬂﬁ 1,'Iﬂ"\’r/Andhra Pradesh (b) HERRTY / Maharashtra

(b) / Karnataka (d) ISRTd / Gujarat
03. Durand Cup is associated with which sport?

T3S P 59 A | JT1 72

(a) BI@I / Hockey (b) $edid / Football

(c) fopde / Cricket (d) T8 A BT TEI / None of these
04. The Tigris river mainly flows through which Country?

fenfea =1t forr 31 o Tt 82

(a) g1 / Turkey (b) FifAT / Syria

(c) Q%P / Iraq (d) QT / Iran
05. Who won the nobel peace prize in the year 2014?

02¥ Ted Higd UIRalfy® fasid sior?

(a) HTIT IGIRTH/ Sanjaya Rajaram (b) ¥ d1dT / Kamal Bawa

(c) s 3feaRY Richard Attenborough  (d) e IARYY Kailash Satyarathi

06. Who is the author of the book Shakuntalam?
Rpaaw gg feara fea ferat?
(a) g¥&I / Surdas (b) BIfIGT / Kalidas
(c) WW/Vishnu Sharma (d) sﬂﬁﬁaﬁ's‘qé’r/ None of these

07. Which Country’s Prime Minister resides in 10-Dowing Street?
10- ST Wie fbw Wy & yur w30 &1 Fae == 82
(a) 3AR®T/ America (b) STUTA / Japan
() qsng%zﬁ?rm/ United Kingdom (d) Eﬁﬁﬁéqﬁ/ None of these



08.

09.

10.

By how much time‘Indian Standard Time’ is ahead of Greenwich Mean Time?

YR e 999, Hfag 97 9 fed=m smi g2

(a)SEi%/SHours (b)GYi%/GHours

(c)51/2 He /5 1/2 Hours (d) ﬁﬁ'@?ﬁ%ﬂ'{ﬁ/ None of these
The Ia§t emperor of the Mughal Dynasty was:

I 431 & Sifad IST BT A1

(a) 3Pa / Akbar (b) THREGIA ]ME / Nasiruddin Shah

(c) delg¥ RTe ST/ Bahadur Shah Jafar  (d) dTd¥ / Babar

2020 Olympic games will be played at:

00 & IfAfI® WA Hei WA S

(a) SIPI3M / Tokyo (b) YR / Paris

(c) =gaid / New York (d) 98X / Tehran



Wifae fagm=

PHYSICS
ﬂﬁ ﬁﬂv_vqﬂ:ﬁ: Choose the correct answer:

11.  Which of the following is not an electromagnetic wave:

fafafaa & & e14-a1 faga Jraea a3 78 37

(15 X 2 = 30 MARKS)

(a) Gamma ray / TITHT feRor (b) Light ray / W11 fareor
(c) X-ray / x — for (d) Cathode ray / ®YIS fur
12. Following is not a Vector:
frafataa o afewr &
(a) Linear momentum 13 QP A (b) Electric Field /ﬁgﬂaﬁ
(c) Kinetic energy/TIﬁ\_ﬂGTrl'f (d) Acceleration / cdRUT
13. What is }he source of radiant Energy of the sun?
T & aT IHT T wd F1 3?2
(a) Explosion | faapte (b) Nuclear Fusion | AP Tfvre=

(c) Nuclear Fission | AP fo@us (d) ﬁﬁﬁﬂﬁ'&tﬂﬁ/ None of these

14. What is the mass of an electron?

SATCT BT FaUT fHaT gl 82
(a) 1/1850 gm (b) 0.1 gm
(c) 9.1x10% gm (d) 3TH | PIs T8l / None of these

15. What is the CGS Unit of intensity of a magnetic fields?
Yo &3 & digar & o . <ft. T, aue T giar 37
(a) Gauss / T (b) Dyne / 8T8
(c) Coulomb / FAIE (d) 3TH | HIs 81 / None of these

16. When a stone is whirled around at the end of a string and is rotated, what is
The pull of string called?

et v=it & FIH W IR FiYHR IW gHH | o {Tar9 usar 8, 3§ .1 Fed 82
(a) Centrifugal Force/ FEUAR 9 (b) Friction / TYUT 9

(c) Gravitational Force/Wﬁ'UTW (d) sﬂﬁ'ﬁaﬁéqﬁ/ None of these

17. When a wave travels from one medium to another, the quantity which will not

Change is?

W9 IS aT Th 1A J GO A1 § 93w HRat ¢, af Fra § & i=-ar uikoma
T8l ggaar

(a) Amplitude / 3TATH (b) Frequencyléﬂqﬁr

(c) Speed / THIR (d) Wavelength / a811g @aTg



18.

19.

20.

21.

22.

23.

24,

Which of the following will generate electric current?

faga frad 3o g
(a) Diode / STOTS (b) Transistor / €forx
(c) Dynamo | ST (d) Motor | HIeR

What is the unit of luminous efficiency of an electrical bulb?
Tt foroTelt & o9 @1 ST G&@T BT 7S 1 32

(a) Watt / dIC (b) Lumen / qHT
(c) Lumen / Watt / qH / dIC (d) Lux /

Tyndail effect is associated with which property of light?

@ yuTa yeTT & o5 0T 9 Ty e 82

(a) Scattering of light | UpTRI fo@RE (b) Dispersion / faget=

(c) Suspension | e (d) Eﬁﬁﬂﬁ'&‘?ﬁ/ None of these

What is the Sl unit of Potential Difference?

T 3 yeEfd # fAHa=R ) SH1E a1 gl 87
(a) Coulomb / AT (b) Ohm / 39

(c) Volt / aiee (d) Ampere / TfRGR

On which factor buoyancy depends for a given body?

foreft avg R A a1 IaTaH g6 frd e R R wwar g2

(a) Weight / HR (b) Density / UYdcd

(c) Volume / 3Taa+ (d) None of these / TH | PIg gl

In which zone of the earth does air exits?

qHE® & for & o gar urt Tt 82

(a) Stratosphere / GHATY HSd (b) Intermediate Zone | ATeATHS E?H
(c) Tropodphere /@'J-I'Fi@'ﬁ (d) None of these/'{ﬂﬁﬁﬂﬁiﬂ'&f‘f

On which factor buoyancy depends for a given body?
wmwwﬁwwwmwwﬁémﬁ?

(a) Weight / HIR (b) Density / g

(c) Volume / 3Taa- (d) None of these / §TH | ®IS gl



PART-III
uforg
MATHEMATICS

(15 X 2 = 30 MARKS)

25. 6 3MTgHt 10 fa # 150 9 A &, <1 8 3TgHt 7 fa A fvaw ©ud waR?
6 Men earn Rs. 150 in 10 days. How much money will be earned by 8 menin 7
days?
(a) Rs. 160 (b) Rs. 140
(c) Rs. 170 (d) Rs. 180
26. < GBS BT WS ¥¥ ¢, Al Th JBAT gl AT A ol 0 & o IS 41 ghft?
Sum of two numbers is 44. If one number is three times other number, then
The numbers are:
(a) 13, 31 (b) 6,38
(c) 04, 40 (d) 11, 33
27.  y* 2y — 3 BIUHEUS:
Factors of y* + 2y — 3
(a) (1+y) (3-y) (b) (y-1) (y+3) .
() (y+1) (y-3) (d) 3TH | PIs A8 / None of these
28. Tl BT AT T I FIT &2
The formula to find volume of sphere is:
(@) 4/3mr? (b) 4/3nr3
(c)4mr3 (d)4nr
TS Td Pt $o TTEGAT 000 § | TS =61 3R i B S = &7 3uTd 3:3 €,
a’rwq’raﬁm
a1 gl
The population of a village is 27500. The ratio of men and women is 3:2. Find the
number of
Men:
(@) 27500 (b) 11000
(c) 16500 (d) 17000
30. TP U YW § fe Tb HI01 o &1 8, af dRIR P17 HT {19 1 g
In aright angled triangle, if one angle is 50°, what will be the measurement of third
angle?

(@) 40° (b) 90°
(c) 50° (d) 60°



31.  fe 2y-4x=24 3R y+ 3x = 7 &, A (y,x) BT A JTd B
Find the value of (y,x), if 2y-4x=24 and y+ 3x = 7:

(@ (-1,10) (b) (a, 10)
(c) (10,1) (d) (10, -1)

32. °f¢ (11010),=(x) 1o @t X’ I BX: If (11010), =(X) 10 Find X:
(@) 28 (b) 24
c) 26 (d) 30
33. 5:12 = x: 96 ¥ “x’ T HIF &1 §NT? What will be the value of ‘X’ in 5:12 = x: 967
(@ 40 (b) 36
(c) 38 (d) 48

34. (x + 3) 3R (x - 3) BT YUFTHE FT M2 : What will be the product of (x + 3) and (x —
3)?

(@ x*+9 (b) x*=6x +9
(c) x*-9 (d) 3TH | PIs A&l / None of these
35. 208 x 0.08 Wﬂﬁiﬂﬁﬁ: Find the value of: 208 x 0.08
4.00 4.00
(@) 416 (b) 4.16
(c) 0.56 (d) .416

36. GIF TWTSHT BT UNT Q¢o0 & 3R IHPT 3T 0 & | HBATY AT 872

What are two numbers, if their sum is 180 and their difference is 20?

(@) 110, 80 (b) 110, 70

(c) 90,70 (d) 3TH | P 81 / None of these

37. %33} BT YA T 2
Find the cube root of 1331:

(@ 13 (b) 12
(c) 11 (d) 14
38. o ® w1997 8w 3 | fyurfoma g2
Which of the following numbers is divisible by 3?
(a) 3745 (b) 8473
(c) 9876 (d) 2456



39. 0.45/0.0009 T HIH T T2
What will be the value of 0.45 / 0.0009?

(@) 50000 (b) 5000
(c) 500 (d) 50



PART-IV
g fagE
CHEMISTRY
H‘(ﬂﬁ?ﬁqﬂ:ﬁ: Choose the correct answer:

40. The number of negative charges in an atom is equal to:

URHTY] ST BUNAY fHad aRTeR gia1 82

(@) Atomic Weight / URHTI] YR (b) Electron / AT
(c) Neutrons /<ggld (d) None of these /Eﬁﬁﬂﬁ'ﬁcﬂﬁ

(10 X 2 = 20 MARKS)

41. Which of the following is produced on heating Calcium Carbonate?
B IR T IS Bl 82

(@) Oxygen / 3fTaIte T (b) Hydrogen / TS SIS
(c) Carbon dioxide / BT STEATHITES (d) None of these / TH | ®Is gl

42. What is the chemical formula of chloroform?

FARIGIH BT TS g3 71 82
(@) CH.CI (b) CHCl,
(c) CHCl, (d) None of these / §TH | HIs a1
43. Which of the following substance can be separated by physical method?
ﬁqﬁaﬁﬂ-wuaﬁmﬁﬁﬁﬁ%ﬁmsm%mmmg?
(a) Mixture / fergror (b) Compound | Giftre
(c) Element/ddd (d) None of these/'{ﬂﬁﬁﬂﬁﬁﬂﬁ

44. What are the substances taking part in chemical reaction known as?

I fUfhar & HIT oA arel yeTdf &) o1 Fgd 82

(&) Reactants | AfUPRD (b) Product / 3T
(c) Catalyst IE?QW (d) Reagent / Wfafsrar=iier gaa
45. Which is the sweetest sugar?
9 & 99 WeT @
(a) Fructose /Wﬂ (b) Glucose /W

(c) Lactose | AT (d) Sucrose /W



46. What are CI*® and CI¥"?
CI® and CI¥ T &2

(&) Isomers / ATTAR (b) Isotopes / MO
(c) Isobar / TAAER (d) None of these/ﬁﬁﬁﬂﬁ?ﬂ'{ﬁ
47. Which of the following is not a colloid?
& & o9-a1 sfea T8 82
(@) Milk/gH (b) Blood / Yad
(c) lIce Cream /Sﬂgﬂﬁﬁ (d) Honey / Rleq
48. Which one of the following salts is blue in colour?
g % 9 {5 0 o1 31 e giar g2
(a) Ferrous Sulphate | B Tebe (b) Copper Sulphate/ﬁﬂ?'\‘l?aﬁ'

(c) Cobalt Chloride / PIdTee Jebe (d) Alum / flhes3t

49. What is the chemical formula of ethane?

34 BT IS I T 87
(@ CH, (b) CoHe
(c) CsHy (d) CHs



